the worlds rising human population is causing
a greater impact on the environment.

~ As the human population increases:
® Raw materials, including non-renewable energy resources, are rapidly being used up,
® More and more waste and rubbish are being produced,

e More polh..ltants are being produced like phosphates from detergents, nitrates from fertilisers and
sulphur dioxide from coal burning power stations.

Use of Fertilisers.

Fertilisers are chemicals containing nitrates and phosphates, which are necessary for modern farming.
Without fertilisers crops wouldn’t grow as well, and this would reduce food yields. This is because the crops
take nitrates out of the soil and these nitrates must be replaced. Remember nitrates are essential for plant

If too much fertiliser is used, it can be washed out of the soil by rain and find its way into lakes, streams
and rivers. This causes the natural concentration of nitrates and phosphates to increase. This is called

eutrophication.
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